guitaremag.com

Riff en LA -2-

Ronan JACQUES
Standard tuning
J =120
schéma de base
d Y a) 1 | | 2 3
A | | | | i I I
E-Gt (! [ #‘—E‘—&'l ] [ | |
< ¢ # s
mf
=
1
A 7 6 5 4 3 2 1
D
D
\

_ premiére partie du riff

P J— P 6

y | —— — ! ! — [

[ (an rJ g & -] Po— I

A\iV = Te o |

P — | e ——FH ——H — — —+ [ to
H— o o H— o & o o s r o o

mf
P.M.- -4 P.M.- - PM.--H P.M.- -4 PM.- -1 PM.----- A P.M.--A

p—

1

A 6 5 4 3 2 1

B——0—0 0—20 0—0 0—0 0—0 0 0 0—20

b
deuxieme partie du riff

. 7 8 9

{/

A ) -

© - . e

) o e o 2 g

p—

1

A

B0 2 3 4 5 6 7

b
riff complet
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